"Drawing the Box" for Hyperbola Asymptotes
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(7] The hyperbola -
2 2

has foci (Xc, 0), where ¢* = @® + b2, vertices (+q, 0), and asymptotes
»= =(b/a)x.
The hyperbola

y2 x2
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has foci (0, *c), where c2 = q? + b?, vertices (0, *a), and asymptotes
Yy = *(a/b)x.
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[7] The hyperbola
xZ y2 =1
b

has foci (xc, 0), where ¢? = a® + b?, vertices (+4, 0), and asymptotes
»= x(b/a)x.
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The hyperbola
y2 x2 —1
a2 b2

has foci (0, £¢), where ¢ = g2 + b?, vertices (0, +a), and asymptotes
y = *(a/b)x.

L (0, —a) T x

FIGURE 13

¥ X

S-5=1

a B





